BT TRIA O - HEHHEE X T 3Fﬁ£5€¢08ﬁ KIRHE
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BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,444 87017 41522 45495
RIRET1T 6 13 6 7
RIRET2T 27 57 27 30
RIRET3T 175 584 287 297
RIRET4T 388 973 478 495
B 596 1,627 798 829
REH 2,668 6,203 2,911 3,292
L&A 4,233 9,571 4,508 5,063
5E 2,557 6,037 2,944 3,093
B AN 1,260 2,871 1,338 1,533
BERT 1,231 1,905 898 1,007
BER2T 677 1,318 634 684
BHERST 393 897 440 457
g 2,301 4,120 1,972 2,148
BARE 254 646 326 320
= 2,183 5,229 2471 2,758
hERE 626 1,463 667 796
e 2,392 5219 2,511 2,708
25 L ET 2,245 5,136 2,462 2,674
B &AL BT 80 170 68 102
HEFILET1T 569 1,238 583 655
HEFILET2T 619 1,369 642 727
HEZFILAT3T 609 1,430 702 728
g 1,877 4,207 1,995 2,212
B & it B Fr ET 692 1,674 804 870
BHEREBET1T 615 1,261 596 665
BHERERET2T 760 1,766 860 906
BHERERETST 768 1,668 760 908
HERERET4T 452 981 479 502
HEHFMHETST 816 1,688 801 887
HEHFHET6T 877 2,014 961 1,053
HEFRET7T 839 1,875 901 974
HERERETST 69 212 100 112
£t| 5196 11,465 5,458 6,007
HEF R FET 1,836 3,973 1,940 2,033
S|EFET1T 568 1,524 761 763
S|EFET2T 768 1,833 871 962
S|EFET3 T 717 1,432 670 762
g 2,053 4,789 2,302 2,487
ERE1T 562 1,337 638 699
EIRET2T 389 1,033 517 516
EREIST 469 1,318 639 679
EIRETAT 698 1,541 704 837
EIZEIST 478 995 508 487
g 2,596 6,224 3,006 3,218
MEH 2,764 6,337 3,006 3,331
J\THET1T 33 37 14 23
J\THET2T 26 64 31 33
J\THEI3T 56 125 58 67
B 115 226 103 123
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